
EM 8S Assessment Test 

Test 3  

Answers 
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2. £275 

3. 450g 

4. ∠𝑎 = 32° ∠𝑏 = 113° ∠𝑐 = 35°  (𝑎𝑙𝑙 𝑎𝑛𝑔𝑙𝑒𝑠 =  ±2°) 

5. a) 𝑛 = 7 b) 𝑛 = 4 

6.  

 Male Female 

Adult 9 11 

Child 5 7 

7. a), b) and c) 

 
8. 6 

9. a) -2  b) -6  c) -99 

10.  b) 5.7 cm (± 0.3 cm) 

11. 15 & 325 

12. a) Yes, odds of 2 digit number 
2

3
 b) No, equally likely. 

13. a) 94 𝑐𝑚2 b) 8 

14. a) 80  b) 340 

15. £8.25 

16. b) 2.8 cm (±.3 cm) 
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17.    

 
18.  a) 5  b) 5 

19.    

 
20.  £10.80 
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11.3 8.7 

7 4.3 4.4 

4.5 2.5 1.8 2.6 


